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Consider the following statements regarding green Hydrogen policy

1. It will help in meeting the target of production of 5 million tonnes of Green hydrogen by 2030
and the related development of renewable energy capacity

2. The objective also is for our country to emerge as an export Hub for Green Hydrogen and Green
Ammonia.

Which of the above statement(s) is / are correct?

a) lonly

b) 2only

c) Bothland?2

d) Neither 1 nor 2

Consider the following statements regarding Indian Home Rule Society

1. It was founded in London which sought to promote the cause of self-rule in British India
2. It was founded by Shyamji Krishna Varma

Which of the above statement(s) is / are correct?

a) lonly

b) 2only

c) Bothland?2

d) Neither 1 nor 2

Consider the following statements about fourth Buddhist Council

1. It was held under the patronage of Ashoka in Pataliputra

2. The council distinctly divided Buddhism into two sects namely Hinayana and Mahayana
Which of the above statement(s) is / are correct?

a) lonly

b) 2only

c) Bothland?2

d) Neither 1 nor 2

Which of the following forest produce is/are nationalized products?
1. Kendu leaf

2. Bamboo
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3. Salseed
Choose the correct answer using the code given below:
a) land2only
b) 2and 3 only
c) 2only
d) 1,2and3

Which among the following is/are likely causes of inflation?

1. Lowering of policy rates by RBI

2. Buyback of government securities by RBI from the open market
3. Anincrease in MGNREGA wages

Choose the correct answer using the code given below:

a) land2only

b) 2and 3 only

c) land3only

d) 1,2and3

What is the difference between “vote-on-account” and “interim budget”?

1. The provision of a “vote-on-account” is used by a regular Government, while an “interim budget”
is a provision used by a caretaker Government.

2. A “vote-on-account” only deals with the expenditure in Government’s budget, while an “interim
budget” includes both expenditure and receipts.

Which of the above statement(s) is / are correct?

a) 1lonly

b) 2only

c) Both1land2

d) Neither 1 nor 2

In which of the following legislatures can a non-member be the Presiding Officer
a) LokSabha

b) RajyaSabha

c) VidhanSabha

d) None of the above

Which of the following is a dance-drama
a) Kathakali
b) Kathak
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10.

c) Odissi
d) Manipuri

Which of the following can be said as the ‘Theory of Darwin’
a) Survival of the fittest and struggle for existence

b) Weak and strong always maintain a fixed proportion

c) Different species do not arise by genetic mutation

d) None of these

India is not a member of which of the following organisation

a) International Bank for Reconstruction and Development (IBRD)

b) International Development Association (IDA)

c) Multilateral Investment Guarantee Agency (MIGA)

d) International Centre for Settlement of Investment Disputes (ICSID)
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